

NEW FAMILY OF JACOBI-STIRLING NUMBERS

*Nenad P. Cakić, Beih. S. El-Desouky and Rabab. S. Gomaa**

The Jacobi-Stirling numbers of the first and second kind were introduced in 2007 by Everitt et al. In this article we find new explicit formulas for Jacobi Stirling numbers. Furthermore, we derive and study new class of the Jacobi Stirling numbers so-called generalized Jacobi-Stirling numbers. Some special cases such as Legendre-Stirling numbers are given. Some interesting combinatorial identities are obtained.

1. INTRODUCTION

The Jacobi Stirling numbers were discovered by Everitt et al. [9]. The Jacobi-Stirling numbers of the second kind $P^{\alpha,\beta} S_n^j$ (for more details, see [1], [5], [12] and [16, 18]), are defined by

$$x^n = \sum_{j=0}^n P^{\alpha,\beta} S_n^j \langle x \rangle_j^{(\alpha,\beta)} \quad (n \in N_0)$$

where $\langle x \rangle_j^{(\alpha,\beta)}$ is generalized falling factorial defined for $x \in C$, by

$$\langle x \rangle_j^{(\alpha,\beta)} = \begin{cases} 1 & \text{if } j = 0 \\ \prod_{r=0}^{j-1} (x - r(r+z)) & \text{if } j \in N \end{cases},$$

and $z = \alpha + \beta + 1$.

*Corresponding author. Rabab. S. Gomaa

2020 Mathematics Subject Classification. 11B73, 92E10, 05B50.

Keywords and Phrases. Stirling numbers, Jacobi-Stirling numbers, Explicit formula, Combinatorial identities, Legendre-Stirling numbers .

The Jacobi-Stirling numbers of the first kind $P^{(\alpha,\beta)}s_n^j$ are defined by, see ([5], [9] and [14])

$$\langle x \rangle_n^{(\alpha,\beta)} = \sum_{j=0}^n P^{(\alpha,\beta)}s_n^j x^j.$$

The numbers $P^{(\alpha,\beta)}S_n^j$ have the explicit expression

$$(1) \quad P^{(\alpha,\beta)}S_n^j = \sum_{r=0}^j (-1)^{r+j} \frac{\Gamma(z+r)\Gamma(z+2r+1)(r(r+z))^n}{r!(j-r)!\Gamma(z+2r)\Gamma(z+j+r+1)},$$

for each $n \in N$ and $j \in \{1, 2, \dots, n\}$, and the generating function

$$f_j^{(\alpha,\beta)}(t) = \sum_{n=0}^{\infty} P^{(\alpha,\beta)}S_n^j t^{n-j} = \prod_{r=1}^j \frac{1}{1-r(r+z)t}, \left(|t| < \frac{1}{j(j+z)} \right).$$

The Jacobi-Stirling numbers of the first and second kind satisfy, respectively the recurrence relations

$$(2) \quad P^{(\alpha,\beta)}s_n^j = P^{(\alpha,\beta)}s_{n-1}^{j-1} - (n-1)(n-1+z)P^{(\alpha,\beta)}s_{n-1}^j,$$

$$(3) \quad P^{(\alpha,\beta)}S_n^j = P^{(\alpha,\beta)}S_{n-1}^{j-1} + j(j+z)P^{(\alpha,\beta)}S_{n-1}^j \quad (n, j \in N),$$

where $P^{(\alpha,\beta)}s_n^0 = P^{(\alpha,\beta)}S_n^0 = \delta_{n,0}$ and $P^{(\alpha,\beta)}s_n^j = P^{(\alpha,\beta)}S_n^j = 0$ for $j > n$, $(n, j \in N)$, where $\delta_{n,j}$ is the Kronecker delta.

Note that when $z = \alpha + \beta + 1 = 1$, the Jacobi-Stirling numbers are reduced to the Legendre-Stirling numbers of the first and second kind, see ([1], [8], [10], [13] and [15]). In [1] and [11] we can find the combinatorial interpretation of Legendre-Stirling and Jacobi-Stirling numbers, respectively. We refer to recent studies in [1-7] and [17] for a better details and understanding.

In this article, Section 2, we give new explicit expressions for Jacobi-Stirling numbers of both kinds. Also, in Section 3, we introduce a generalization of these numbers. Moreover, some combinatorial identities are derived. Finally, some interesting special cases are obtained.

2. NEW EXPLICIT FORMULAS FOR JACOBI-STIRLING NUMBERS

In this section we investigate new explicit expressions for the Jacobi-Stirling numbers of both kinds.

Theorem 1. *The Jacobi-Stirling numbers of the second kind have the following explicit formula*

$$(4) \quad P^{(\alpha,\beta)}S_n^k = \sum_{\sigma_{n-1}=n-k, i_j \in \{0,1\}} \binom{1}{i_1} \binom{1+z}{i_1} \binom{2-i_1}{i_2} \binom{2+z-i_1}{i_2} \dots$$

$$\binom{n-1-i_1-\dots-i_{n-2}}{i_{n-1}} \binom{n-1+z-i_1-\dots-i_{n-2}}{i_{n-1}}, \sigma_n = \sum_{l=1}^n i_l.$$

Proof. For $n = k$, we get $P^{(\alpha,\beta)}S_n^n = 1$. Now, if we take $i_{n-1} \in \{0, 1\}$, we have

$$\begin{aligned} P^{(\alpha,\beta)}S_n^k &= \sum_{\sigma_{n-2}=(n-1)-(k-1), i_j \in \{0,1\}} \binom{1}{i_1} \binom{1+z}{i_1} \binom{2-i_1}{i_2} \binom{2+z-i_1}{i_2} \dots \\ &\quad \binom{n-2-i_1-\dots-i_{n-3}}{i_{n-2}} \binom{n-2+z-i_1-\dots-i_{n-3}}{i_{n-2}} \\ + \sum_{\sigma_{n-2}=(n-1)-k, i_j \in \{0,1\}} (n-1-(n-1-k))(n-1+z-(n-1-k)) \binom{1}{i_1} \binom{1+z}{i_1} \\ &\quad \binom{2-i_1}{i_2} \binom{2+z-i_1}{i_2} \dots \binom{n-2-i_1-\dots-i_{n-3}}{i_{n-2}} \\ &\quad \binom{n-2+z-i_1-\dots-i_{n-3}}{i_{n-2}} = P^{(\alpha,\beta)}S_{n-1}^{k-1} + k(k+z)P^{(\alpha,\beta)}S_{n-1}^k, \end{aligned}$$

which is the same recurrence relation (3) of $P^{(\alpha,\beta)}S_n^k$. This completes the proof. Similarly, we can prove the following: \square

Theorem 2. *Jacobi-Stirling numbers of the second kind have the following explicit expression*

$$(5) \quad P^{(\alpha,\beta)}S_n^k = \sum_{\sigma_{n-1}=n-k, i_j \in \{0,1\}} \binom{1+z}{i_1} \binom{(1-i_1)(1+z-i_1)}{i_2} \\ \binom{(2-i_1)(2+z-i_1-i_2)}{i_3} \dots \binom{(n-1-i_1-\dots-i_{n-2})(n-1+z-i_1-\dots-i_{n-2})}{i_{n-1}}.$$

Remark 3. *From (1) and (4), we have the combinatorial identity*

$$\begin{aligned} \sum_{r=0}^k (-1)^{r+k} \frac{\Gamma(z+r)\Gamma(z+2r+1)(r(r+z))^n}{r!(k-r)!\Gamma(z+2r)\Gamma(z+k+r+1)} \\ = \sum_{\sigma_{n-1}=n-k, i_j \in \{0,1\}} \binom{1}{i_1} \binom{1+z}{i_1} \binom{2-i_1}{i_2} \binom{2+z-i_1}{i_2} \dots \\ \binom{n-1-i_1-\dots-i_{n-2}}{i_{n-1}} \binom{n-1+z-i_1-\dots-i_{n-2}}{i_{n-1}}. \end{aligned}$$

Theorem 4. *The Jacobi-Stirling numbers of the second kind $P^{(\alpha,\beta)}S_n^k$ have the operational formula*

$$(6) \quad \prod_{j=0}^n x^{-j(j+z)} Dx^{j(j+z)} = \sum_{j=0}^n P^{(\alpha,\beta)}S_n^j x^j D^j, \text{ where } D := d/dx.$$

Theorem 5. *The Jacobi-Stirling numbers of the first kind $P^{(\alpha,\beta)}s_n^k$ have the explicit*

expression

$$P^{(\alpha,\beta)}s_n^k = \sum_{\sigma_n=k, i_j \in \{0,1\}} \binom{i_1}{1-i_1} \binom{i_2-1-z}{1-i_2} \binom{i_3-2(2+z)}{1-i_3} \dots \binom{i_n-(n-1)(n-1+z)}{1-i_n}.$$

Proof. For $k = 0$ we have $P^{(\alpha,\beta)}s_n^0 = 0$ and for $n = k$ we get $P^{(\alpha,\beta)}s_n^n = 1$. Now, if we take $i_n \in \{0, 1\}$, we get

$$\begin{aligned} P^{(\alpha,\beta)}s_n^k &= \sum_{\sigma_{n-1}=k, i_j \in \{0,1\}} \binom{i_1}{1-i_1} \binom{i_2-1-z}{1-i_2} \binom{i_3-2(2+z)}{1-i_3} \dots \\ &\quad \binom{i_{n-1}-(n-2)(n-2+z)}{1-i_{n-2}} (-n-1)(n-1) + \sum_{\sigma_{n-1}=k-1, i_j \in \{0,1\}} \binom{i_1}{1-i_1} \\ &\quad \binom{i_2-1-z}{1-i_2} \binom{i_3-2(2+z)}{1-i_3} \dots \binom{i_{n-1}-(n-2)(n-2+z)}{1-i_{n-2}} (1) \\ &= P^{(\alpha,\beta)}s_{n-1}^{k-1} - (n-1)(n-1+z)P^{(\alpha,\beta)}s_{n-1}^k. \end{aligned}$$

That is the same recurrence relation (2) of $P^{(\alpha,\beta)}s_n^k$. This completes the proof. \square

Corollary 6. *The Legendre-Stirling numbers of the second kind PS_n^k have the following new explicit formulas*

$$PS_n^k = \sum_{\sigma_{n-1}=n-k, i_j \in \{0,1\}} \binom{1}{i_1} \binom{2}{i_1} \binom{2-i_1}{i_2} \binom{3-i_1}{i_2} \dots \binom{n-1-i_1-\dots-i_{n-2}}{i_{n-1}} \binom{n-i_1-\dots-i_{n-2}}{i_{n-1}}, \sigma_n = \sum_{l=1}^n i_l.$$

$$PS_n^k = \sum_{\sigma_{n-1}=n-k, i_j \in \{0,1\}} \binom{2}{i_1} \binom{(1-i_1)(2-i_1)}{i_2} \binom{(2-i_1)(3-i_1-i_2)}{i_3} \dots \binom{(n-1-i_1-\dots-i_{n-2})(n-i_1-\dots-i_{n-2})}{i_{n-1}}.$$

Proof. The proof follows directly by setting $z = 1$ in (4) and (5) respectively. \square

Corollary 7. *The Legendre-Stirling numbers of the first kind $P_s_n^k$ have the following new explicit formula*

$$P_s_n^k = \sum_{\sigma_n=k, i_j \in \{0,1\}} \binom{i_1}{1-i_1} \binom{i_2-2}{1-i_2} \binom{i_3-2.3}{1-i_3} \dots \binom{i_n-(n-1)n}{1-i_n}.$$

Proof. The proof follows directly by setting $z = 1$ in (6). \square

3. GENERALIZED JACOBI-STIRLING NUMBERS

In this section, we derive new family of generalized Jacobi-Stirling numbers to be written as:

Definition 8. *The Generalized Jacobi-Stirling numbers of the second kind denoted by $S_{A,B}(n, k)$, satisfy the recurrence relation*

$$(7) \quad S_{A,B}(n, k) = S_{A,B}(n-1, k-1) + (k+A)(k+B)S_{A,B}(n-1, k),$$

where A and B belongs to R with initial conditions $S_{A,B}(n, 0) = \delta_{n,0}$ and $S_{A,B}(n, k) = 0$, $k > n$.

Theorem 9. *The numbers $S_{A,B}(n, k)$ have the explicit formula*

$$(8) \quad S_{A,B}(n, k) = \sum_{\sigma_{n-1}=n-k, i_j \in \{0,1\}} \binom{1+A}{i_1} \binom{1+B}{i_1} \binom{2+A-i_1}{i_2} \binom{2+B-i_1}{i_2} \dots \\ \binom{n-1+A-i_1-\dots-i_{n-2}}{i_{n-1}} \binom{n-1+B-i_1-\dots-i_{n-2}}{i_{n-1}}.$$

Proof. For $n = k$ we get $S_{A,B}(n, n) = 1$. For $i_{n-1} \in \{0, 1\}$ we get from (8) that

$$S_{A,B}(n, k) = \sum_{\sigma_{n-2}=n-k, i_j \in \{0,1\}} \binom{1+A}{i_1} \binom{1+B}{i_1} \binom{2+A-i_1}{i_2} \binom{2+B-i_1}{i_2} \dots \\ \binom{n-2+A-i_1-\dots-i_{n-3}}{i_{n-2}} \binom{n-2+B-i_1-\dots-i_{n-3}}{i_{n-2}} + \\ (n-1+A-n+1+k)(n-1+B-n+1+k) \cdot \sum_{\sigma_{n-2}=n-k-1, i_j \in \{0,1\}} \binom{1+A}{i_1} \binom{1+B}{i_1} \binom{2+A-i_1}{i_2} \dots \\ \binom{2+B-i_1}{i_2} \dots \binom{n-2+A-i_1-\dots-i_{n-3}}{i_{n-2}} \binom{n-2+B-i_1-\dots-i_{n-3}}{i_{n-2}}$$

i.e. relation (7). This completes the proof. \square

Moreover, we define the new family of the generalized Jacobi-Stirling numbers as follows:

Definition 10.

$$\langle x \rangle_j^{\bar{A}} = \begin{cases} 1 & \text{if } j = 0 \\ \prod_{r=0}^{j-1} (x - \prod_{i=0}^p (r + A_i)) & \text{if } j \in N \end{cases}$$

where, $A_i, i = 1, 2, \dots, p$ are real numbers.

Definition 11. Let $P^{\bar{A}}S_n^j$, the extended Generalized Jacobi-Stirling numbers of the second kind associated with $\bar{A} = (A_1, A_2, \dots, A_p)$, may be called p -multiparameter Jacobi-Stirling numbers of the second kind, be defined by

$$x^n = \sum_{j=0}^n P^{\bar{A}}S_n^j \langle x \rangle_j^{\bar{A}} \quad (n \in N_0)$$

Theorem 12. The numbers $P^{\bar{A}}S_n^j$ satisfy the recurrence relation

$$(9) \quad P^{\bar{A}}S_n^j = P^{\bar{A}}S_{n-1}^{j-1} + \prod_{i=1}^p (j + A_i) P^{\bar{A}}S_{n-1}^j.$$

Proof. Since $\sum_{j=0}^n P^{\bar{A}}S_n^j \langle x \rangle_j^{\bar{A}} = x^n = x^{n-1} \left(x - \prod_{i=1}^p (j + A_i) + \prod_{i=1}^p (j + A_i) \right)$
 $= \sum_{j=0}^{n-1} P^{\bar{A}}S_n^j (x - \prod_{i=1}^p (j + A_i)) \langle x \rangle_j^{\bar{A}} + \sum_{j=0}^{n-1} P^{\bar{A}}S_n^j \left(\prod_{i=1}^p (j + A_i) \right) \langle x \rangle_j^{\bar{A}}$
 $= \sum_{j=0}^{n-1} P^{\bar{A}}S_n^j \langle x \rangle_{j+1}^{\bar{A}} + \sum_{j=0}^{n-1} P^{\bar{A}}S_n^j \left(\prod_{i=1}^p (j + A_i) \right) \langle x \rangle_j^{\bar{A}}.$
 Equating the coefficients of $\langle x \rangle_j^{\bar{A}}$ yields (9). □

Similar to **Theorem 12**, we can prove the following theorem.

Theorem 13. The p -multiparameter Jacobi-Stirling numbers of the second kind, $P^{\bar{A}}S_n^k$ have the explicit formula

$$P^{\bar{A}}S_n^k = \sum_{\sigma_{n-1}=n-k, i_j \in \{0,1\}} \prod_{j=1}^p \binom{1 + A_j}{i_1} \binom{2 + A_j - i_1}{i_2} \dots \binom{n - 1 + A_j - i_1 - \dots - i_{n-2}}{i_{n-1}}.$$

Theorem 14. The numbers $S_{A,B}(n, k)$ are the coefficients of t^{n-j} in the Taylor expansion of

$$f_j(A, B; t) = \prod_{r=1}^j \frac{1}{1 - (r + A)(r + B)t} \quad \left(|t| < \frac{1}{(j + A)(j + B)} \right).$$

Proof. We have

$$\frac{t^j}{(1 - (1 + A)(1 + B)t)(1 - (2 + A)(2 + B)t) \dots (1 - (j + A)(j + B)t)}$$

$$= \sum_{m=1}^j \frac{A_m}{1 - (m + A)(m + B)t} \quad \left(|t| < \frac{1}{(j + A)(j + B)} \right),$$

and this implies

$$\begin{aligned} t^j &= A_1(1 - (2 + A)(2 + B)t)(1 - (3 + A)(3 + B)t) \cdots (1 - (j + A)(j + B)t) \\ &+ A_2(1 - (1 + A)(1 + B)t)(1 - (3 + A)(3 + B)t) \cdots (1 - (j + A)(j + B)t) \\ &+ \cdots + A_j(1 - (1 + A)(1 + B)t)(1 - (2 + A)(2 + B)t) \cdots \\ &(1 - (j - 1 + A)(j - 1 + B)t). \end{aligned}$$

If we let $t = \frac{1}{(1+A)(1+B)}$ we find

$$A_1 = \frac{(-1)^{j+1}}{(j-1)!} \cdot \frac{1}{(A+1)(B+1)} \cdot \frac{\Gamma(A+B+3)}{\Gamma(A+B+j+2)}.$$

Similarly, letting $t = \frac{1}{(2+A)(2+B)}$, we have

$$A_2 = \frac{(-1)^{j+2}}{(j-2)!} \cdot \frac{1}{(A+2)(B+2)} \cdot \frac{\Gamma(A+B+3)\Gamma(A+B+5)}{\Gamma(A+B+4)\Gamma(A+B+j+3)}.$$

For

$$A_3 = \frac{(-1)^{j+3}}{(j-3)!} \cdot \frac{1}{(A+3)(B+3)} \cdot \frac{\Gamma(A+B+4)\Gamma(A+B+7)}{\Gamma(A+B+6)\Gamma(A+B+j+4)}$$

, and in general

$$A_m = \frac{(-1)^{j+m}}{(j-m)!} \cdot \frac{1}{(A+m)(B+m)} \cdot \frac{\Gamma(A+B+m+1)\Gamma(A+B+2m+1)}{\Gamma(A+B+2m)\Gamma(A+B+j+m+1)}.$$

So, we have

$$\begin{aligned} t^j \cdot \prod_{s=1}^j \frac{1}{1 - (s+A)(s+B)t} &= \prod_{s=1}^j \frac{t}{1 - (s+A)(s+B)t} = \sum_{s=1}^j \frac{A_s}{1 - (s+A)(s+B)t} \\ &= \sum_{s=1}^j \sum_{n=0}^{+\infty} A_s \cdot ((s+A)(s+B))^n t^n \quad \left(|t| < \frac{1}{(j+A)(j+B)} \right) \\ &= \sum_{n=0}^{+\infty} \left(\sum_{s=1}^j A_s \cdot ((s+A)(s+B))^n \right) t^n, \end{aligned}$$

and

$$\begin{aligned} \prod_{s=1}^j \frac{1}{1 - (s+A)(s+B)t} &= \sum_{n=0}^{+\infty} \left(\sum_{s=1}^j A_s \cdot ((s+A)(s+B))^n \right) t^{n-j} \\ &= \sum_{n=0}^{+\infty} \sum_{s=1}^j \frac{(-1)^{j+s}}{(j-s)!} \cdot \frac{1}{(A+s)(B+s)} \cdot \frac{\Gamma(A+B+s+1)\Gamma(A+B+2s+1)}{\Gamma(A+B+2s)\Gamma(A+B+j+s+1)} \\ &(s+A)(s+B)t^{n-j} = \sum_{n=0}^{+\infty} S_{A,B}(n, j) \cdot t^{n-j}, \end{aligned}$$

with the explicit formula

$$S_{A,B}(n, k) = \sum_{s=1}^k \frac{(-1)^{s+k}}{(k-s)!} \cdot \frac{1}{(A+s)(B+s)}$$

$$\frac{\Gamma(A+B+s+1)\Gamma(A+B+2s+1)}{\Gamma(A+B+2s)\Gamma(A+B+k+s+1)} ((s+A)(s+B))^n.$$

This completes the proof. □

Remark 15. For $B = 0$, $A = \alpha + \beta + 1$ we get the Jacobi-Stirling numbers. For $B = 0$ we get the numbers $S_A(k, 0)$ studied in [14]. Similarly, for numbers $P^{\bar{A}}S_n^j$ we have

$$\prod_{s=1}^j \frac{1}{1 - \prod_{i=1}^p (s + A_i)t} = \sum_{n=0}^{+\infty} \left(\sum_{s=1}^j A_s \left(\prod_{i=1}^p (s + a_i) \right)^n \right) t^{n-j},$$

and its coefficients can be obtained in a similar way.

Definition 16. Let $P^{\bar{A}}s_n^j$, the Generalized Jacobi-Stirling numbers of the first kind associated with $\bar{A} = (A_1, A_2, \dots, A_p)$, may be called p -multiparameter Jacobi-Stirling numbers of the first kind, be defined by

$$(10) \quad \langle x \rangle_n^{\bar{A}} = \sum_{j=0}^n P^{\bar{A}}s_n^j x^j \quad (n \in N_0).$$

Theorem 17. The numbers $P^{\bar{A}}s_n^j$ satisfy the recurrence relation

$$(11) \quad P^{\bar{A}}s_n^j = P^{\bar{A}}s_{n-1}^{j-1} - \prod_{i=1}^p (n-1 + A_i) P^{\bar{A}}s_{n-1}^j.$$

Proof. Since $\langle x \rangle_n^{\bar{A}} = \langle x \rangle_{n-1}^{\bar{A}} (x - \prod_{i=1}^p (n-1 + A_i))$, hence using (10), we have

$$\sum_{j=0}^n P^{\bar{A}}s_n^j x^j = \sum_{j=0}^{n-1} P^{\bar{A}}s_n^j x^j \left(x - \prod_{i=1}^p (n-1 + A_i) \right)$$

$$= \sum_{j=0}^{n-1} P^{\bar{A}}s_{n-1}^j \left(x^{j+1} - \prod_{i=1}^p (n-1 + A_i) \right) \sum_{j=0}^{n-1} P^{\bar{A}}s_{n-1}^j x^j.$$

Equating the coefficient of x^j on both sides yields (11). □

Also, we formulate the following theorem:

Theorem 18. *The p -multiparameter Jacobi-Stirling numbers of the first kind, $P^{\bar{A}}s_n^k$ have the explicit formula*

$$P^{\bar{A}}s_n^k = \sum_{\sigma_{n=k}, i_j \in \{0,1\}} \binom{i_1 - \prod_{j=1}^p A_j}{1 - i_1} \binom{i_2 - \prod_{j=1}^p (1 + A_j)}{1 - i_2} \dots \binom{i_n - \prod_{j=1}^p (n - 1 + A_j)}{1 - i_n}.$$

Proof. For $n = k$ we get $P^{\bar{A}}s_n^n = 1$. Now, if we take $i_n \in \{0,1\}$, we get

$$\begin{aligned} P^{\bar{A}}s_n^k &= \sum_{\sigma_{n-1=k}, i_j \in \{0,1\}} \binom{i_1 - \prod_{j=1}^p A_j}{1 - i_1} \binom{i_2 - \prod_{j=1}^p (1 + A_j)}{1 - i_2} \binom{i_{n-1} - \prod_{j=1}^p (n - 2 + A_j)}{1 - i_{n-1}} \dots \\ &\cdot \binom{-\prod_{j=1}^p (n - 1 + A_j)}{1 - i_n} + \sum_{\sigma_{n-1=k-1}, i_j \in \{0,1\}} \binom{i_1 - \prod_{j=1}^p A_j}{1 - i_1} \binom{i_2 - \prod_{j=1}^p (1 + A_j)}{1 - i_2} \dots \\ &\quad \binom{i_{n-1} - \prod_{j=1}^p (n - 2 + A_j)}{1 - i_{n-1}} = P^{\bar{A}}s_{n-1}^{k-1} - \prod_{j=1}^p (n - 1 + A_j) P^{\bar{A}}s_{n-1}^k, \end{aligned}$$

i.e. relation (11). This completes the proof. □

REFERENCES

1. G. E. ANDREWS, L. L. LITTLEJOHN : *A combinatorial interpretation of the Legendre-Stirling numbers*. Proc. Amer. Math. Soc, **137** (2009), 2581-2590.
2. G.E. ANDREWS, E.S. EGGE, W. GAWRONSKI, L.L. LITTLEJOHN : *The Jacobi-Stirling numbers*. J. Combin. Theory Ser. , **A 120** (2013), 288-303.
3. A. CLAESSON, S. KITAEV, K. RAGNARSSON, B. E. TENNER: *Booleau complex for Ferrers graphs*. Australas. J. Comb, **48** (2010), 159-173.
4. L. COMTET: *Advanced combinatorics*. Boston, Dordrecht, (1974).
5. B. S. EL-DESOUKY , N. P. CAKIC' , F. A. SHIHA : *New Family of Whitney Numbers*. Filomat, **31** (2017), 309-320.
6. D. DUMONT: *Interpretations combinatoires des nombres de Genocchi*. Duke Math. J., **41** (1974), 305-318.
7. W. N. EVERITT , L. L. LITTLEJOHN , R. WELLMAN: *The left-definite spectral theory for the classical Hermite differential equation*. J. Comb. Appl. Math., **121** (2000), 313-330.
8. W. N. EVERITT, L. L. LITTLEJOHN, R. WELLMAN: *Legendre polynomials, Legendre-Stirling numbers, and the left-definite spectral analysis of the Legendre differential expression*. J. Comb. Appl. Math., **148** (2002), 213-238.

9. W. N. EVERITT, K. H. KWON, L. L. LITTLEJOHN, R. WELLMAN, G. J. YOON: *Jacobi-Stirling numbers, Jacobi polynomials, and the left-definite analysis of the classical Jacobi differential expression*. J. Comput. Appl. Math., **208** (2007), 29-56.
10. K. C. GARRETT1, KENDRA KILLPATRICK: *Generalized Legendre-Stirling Numbers*. Open J. Discrete Math., **4** (2014), 109-114.
11. Y. GELINEAU AND J. ZENG: *Combinatorial interpretations of the Jacobi-Stirling numbers*. The Elect. J. Comb., **17** (2010), R70.
12. I. M. GESSEL, Z. LIN, J. ZENG: *Jacobi-Stirling polynomials and P -partitions*. European J. Combin., **33** (2012), 1987-2000.
13. H. GUO AND K. WANG: *Some Properties of the Legendre-Stirling Numbers*. IOP Conf. Ser.: Mater. Sci. Eng., **466** (2018).
14. A. F. LOUREIRO : *New results on the Bochner condition about classical orthogonal polynomials*. J. Math. Anal. Appl., **364** (2010), 307-323.
15. S.-M. MA, J. MA AND Y.-N. YEH: *On Certain Combinatorial Expansions of The Legendre Stirling Numbers*. Electron. J. Comb., **25(4)** (2018), 4-57.
16. M. MERCA: *A note on the Jacobi-Stirling numbers*. Integral Transforms Spec. Funct., **25(3)** (2014), 196-202.
17. T. MANSOUR AND M. SCHORK: *Commutation relations, normal ordering, and Stirling numbers*. Chapman and Hall/CRC, (2015).
18. M. MIHOUBI AND A. RAHIM: *The R -Jacobi-Stirling numbers of the second kind*. Miskolc Mathematical Notes., **17(2)** (2016), 947-955.

Nenad P. Cakić

Department of Mathematics,
Faculty of Electrical Engineering,
University of Belgrade,
Belgrade, Serbia
E-Mail: *cakic@etf.rs*

(Received 29. 08. 2021.)

(Revised 27. 06. 2023.)

Beih.S. El-Desouky

Department of Mathematics,
Faculty of Science
Mansoura University,
Mansoura, Egypt
E-Mail: *b_desouky@yahoo.com*

Rabab. S. Gomaa

Department of Mathematics,
Faculty of Science
Mansoura University,
Mansoura, Egypt
E-Mail: *dr.rsg12@yahoo.com*